## IFB 16-12 Beulan Road Sidewalk - Phase 2A

UPC 105220 Bid Opening 8/9/16 11:00 AM Opened by Gina Gilpin Witnessed by Luis Blandon

Opened by	Gina Gilpin Witnessed by Luis Blandon								
				Sagres Construction	on	Jeffrey Stack, Inc.		US Concrete and Paving, Inc.	
				8350 Terminal Ro	ad, Ste A	PO Box 280		26032 Ridge Ma	nor Drive
				Lorton, VA 22079		Jersey, VA 2248	1	Damascus, MD 2	20872
NO.	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	MOBILIZATION/CONSTR. SCHEDULING	1	LS	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$10,000.00	\$10,000.00
2	CONSTRUCTION SURVEYING	1	LS	\$2,500.00	\$2,500.00	\$12,000.00	\$12,000.00	\$5,500.00	\$5,500.00
3	CLEARING AND GRUBBING (INCLUDES ANY TREE								
	REMOVAL NOT NOTED ON PLANS)	1	LS	\$27,500.00	\$27,500.00		\$10,000.00	\$6,000.00	\$6,000.00
4	REGULAR EXCAVATION EXCESS CUT TO BE DISPOSED (HAUL AWAY)	233 208	CY CY	\$35.00 \$25.00	\$8,155.00 \$5,200.00		\$8,854.00 \$10,400.00	\$67.00 \$45.00	\$15,611.00 \$9,360.00
6	FULL DEPTH PAVEMENT FOR ROADWAY	1775	SF	\$23.00 \$7.50	\$13,312.50		\$10,400.00	\$43.00	\$9,560.00
	SM-9.5A OR SM-9.5D FOR MILL/OVERLAY (MIN.	1775	51	ç7.50	<i>Q13,312.30</i>	 	\$14,200.00	\$15.00	\$25,675.00
7	2")	5435	SF	\$3.50	\$19,022.50	\$3.00	\$16,305.00	\$6.00	\$32,610.00
8	ST'D. CURB CG-2	178	LF	\$45.00	\$8,010.00	\$34.00	\$6,052.00	\$40.00	\$7,120.00
9				4.5.00	4= +0.00	400.00	4.00.00	4.5.00	4= 40.00
-	ST'D. RAD. CURB CG-2	12	LF	\$45.00	\$540.00	\$36.00	\$432.00	\$45.00	\$540.00
10	MOD. COMB. CURB AND GUTTER CG-6	194	LF	\$50.00	\$9,700.00	\$34.00	\$6,596.00	\$70.00	\$13,580.00
11	MOD DAD COMP CURP AND CUTTER CC C	11	15	ć55.00	¢	¢26.00	¢200 00	¢45.00	¢405.00
	MOD. RAD. COMB. CURB AND GUTTER CG-6	11	LF	\$55.00	\$605.00	\$36.00	\$396.00	\$45.00	\$495.00
12	MOD. REVERSE RAD. COMB. CURB AND GUTTER CG-6R	44	LF	ČEE OO	\$2,420,00	¢26.00	\$1,584.00	É45.00	\$1,000,00
	СС-6К 6' TRANSITION FROM MOD. RAD. COMB. CURB	44	LF	\$55.00	\$2,420.00	\$36.00	\$1,584.00	\$45.00	\$1,980.00
13	AND GUTTER CG-6 TO CG-6R	12	LF	\$60.00	\$720.00	\$36.00	\$432.00	\$45.00	\$540.00
		12		\$00.00	\$720.00	\$30.00	Ş432.00	Ş43.00	\$540.00
14	ASPHALT CONCRETE CURB MC-3A	61	LF	\$60.00	\$3,660.00	\$20.00	\$1,220.00	\$50.00	\$3,050.00
15									
	CG-12 DETECTABLE WARNING SURFACE	2	SY	\$225.00	\$450.00	\$400.00	\$800.00	\$200.00	\$400.00
16	HYDR. CEMENT CONC. (CG-12)	14	SY	\$75.00	\$1,050.00	\$75.00	\$1,050.00	\$250.00	\$3,500.00
17	HYDR. CEMENT CONC. (CG-12) HYDR. CEMENT CONC. SIDEWALK 4"	14	SY	\$75.00	\$1,030.00		\$6,380.00	\$250.00	\$10,440.00
18	ST'D. CG-9B (ENTRANCE APRON)	41	SY	\$90.00	\$3,690.00		\$4,510.00	\$243.00	\$9,963.00
19	ASPHALT DRIVEWAY	117	SY	\$75.00	\$8,775.00		\$3,510.00	\$136.00	\$15,912.00
20	FLEXIBLE PAVEMENT PLANING (2" MILL)	1208	SY	\$10.00	\$12,080.00	\$25.00	\$30,200.00	\$11.00	\$13,288.00
	SAWCUT CONCRETE ITEMS (SIDEWALK, C&G,	1200	51	\$10.00	\$12,080.00	Ş25.00	\$30,200.00	Ş11.00	\$15,288.00
21	ETC.)	12	LF	\$5.00	\$60.00	\$12.00	\$144.00	\$1.00	\$12.00
22	SAWCUT FULL DEPTH PAVEMENT	470	LF	\$5.00	\$2,350.00		\$2,820.00	\$4.00	\$1,880.00
23	RELOCATE MAILBOX	2	EA	\$125.00	\$250.00	\$300.00	\$600.00	\$100.00	\$200.00
24									
24	ST'D. MH-1 OR 2	6	LF	\$950.00	\$5,700.00	\$450.00	\$2,700.00	\$250.00	\$1,500.00
25	FRAME & COVER FOR MH-1 OR 2	1	EA	\$495.00	\$495.00	\$450.00	\$450.00	\$1,000.00	\$1,000.00
26									
20	PIPE - 15" RCP	46	LF	\$115.00	\$5,290.00	\$125.00	\$5,750.00	\$95.00	\$4,370.00
27									
28	PIPE - 18" RCP DROP INLET DI-3B 20'	127	LF EA	\$125.00	\$15,875.00		\$13,970.00	\$120.00	\$15,240.00
28	DROP INLET DI-3B 20 DROP INLET DI-3C 14'	1	EA	\$8,250.00 \$7,125.00	\$8,250.00 \$7,125.00		\$6,000.00 \$6,000.00	\$14,000.00 \$14,000.00	\$14,000.00 \$14,000.00
30	DROP INLET DI-12 4'	1	EA	\$6,450.00	\$6,450.00		\$5,500.00		\$9,000.00
31	REMOVE EX. 15" CMP	46	LF	\$25.00	\$1,150.00		\$1,380.00	\$25.00	\$1,150.00
32	REMOVE EX. 15" RCP	126	EA	\$35.00	\$4,410.00		\$3,150.00	\$75.00	\$9,450.00
33	REMOVE EX. STORM GRATE	3	EA	\$250.00	\$750.00		\$1,500.00	\$500.00	\$1,500.00
34	REMOVE EX. STORM MANHOLE	1	EA	\$950.00	\$950.00	\$800.00	\$800.00	\$1,500.00	\$1,500.00
35									
55	TIE PROPOSED PIPE TO EXISTING STRUCTURE	2	EA	\$1,250.00	\$2,500.00	\$1,200.00	\$2,400.00	\$1,500.00	\$3,000.00
36	ALLAYING DUST	50	HR	\$5.00	\$250.00		\$4,500.00	\$5.00	\$250.00
37	MAINTENANCE OF TRAFFIC	1	LS	\$40,000.00	\$40,000.00	\$30,000.00	\$30,000.00	\$28,000.00	\$28,000.00
38	DEMOLITION (& HAUL AWAY) OF PAVEMENT								
	(FLEXIBLE) DEMOLITION (& HAUL AWAY) OF CONC.	379	SY	\$10.00	\$3,790.00	\$20.00	\$7,580.00	\$25.00	\$9,475.00
39	APRON/SIDEWALK	8	SY	\$25.00	\$200.00	\$34.00	\$272.00	\$25.00	\$200.00
	DEMOLITION (& HAUL AWAY) EX. CURB &	0	31	\$25.00	ş200.00	\$54.00	\$272.00	\$25.00	\$200.00
40	GUTTER	79	LF	\$10.00	\$790.00	\$14.00	\$1,106.00	\$5.00	\$395.00
41	SOD	466	SY	\$10.00	\$4,660.00		\$3,728.00	\$8.00	\$3,728.00
42									
44	TOP SOIL CL. A 2"	466	SY	\$7.50	\$3,495.00	\$6.00	\$2,796.00	\$5.00	\$2,330.00
43		л	E /	6475 CO	6700.00	¢250.00	¢1 400 00	¢200.00	¢1 200 00
	INLET PROTECTION (TY. A)	4	EA FA	\$175.00 \$175.00	\$700.00 \$700.00		\$1,400.00	\$300.00 \$300.00	\$1,200.00
43 44 45	INLET PROTECTION (TY. A) INLET PROTECTION (TY. B)	4	EA EA	\$175.00 \$175.00	\$700.00 \$700.00	\$350.00 \$400.00	\$1,400.00 \$1,600.00	\$300.00 \$300.00	\$1,200.00 \$1,200.00

46		100	15	ć5.00	¢020.00	65 00	¢020.00	ć2.00	ć 100.00
	SILT FENCE	166	LF	\$5.00	\$830.00	\$5.00	\$830.00	\$3.00	
47	ROCK CHECK DAMS	2	EA	\$250.00	\$500.00	\$400.00	\$800.00	\$300.00	\$600.00
48	PROPOSED TREE	9	EA	\$495.00	\$4,455.00	\$450.00	\$4,050.00	\$200.00	\$1,800.00
49	MISC. LANDSCAPING (DISCRETION OF TOWN)	1	LS	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00
50	MAINTENANCE OF PROPOSED TREES	1	LS	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00
51	CONC. FOUNDATION STP-1 (FOR SIGN POST)	3	EA	\$195.00	\$585.00	\$500.00	\$1,500.00	\$450.00	\$1,350.00
52	RELOCATE/RESET EXIST. SIGN STRUCTURE	3	EA	\$125.00	\$375.00	\$600.00	\$1,800.00	\$250.00	\$750.00
53	4" PAVEMENT MARKING TY. B CLASS I - YELLOW	501	LF	\$2.00	\$1,002.00	\$3.00	\$1,503.00	\$3.00	\$1,503.00
54	24" PAVEMENT MARKING TY. B CLASS I - WHITE	145	LF	\$10.00	\$1,450.00	\$12.00	\$1,740.00	\$10.00	\$1,450.00
55	NS RELOCATE EX. WATER METER	2	EA	\$1,250.00	\$2,500.00	\$2,500.00	\$5,000.00	\$800.00	\$1,600.00
56	NS RESET EX. GUY WIRE	1	EA	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00
57	TEST HOLE	2	EA	\$500.00	\$1,000.00	\$600.00	\$1,200.00	\$950.00	\$1,900.00
58	CONTINGENT - NS ADJUST SANITARY SEWER CONNECTIONS	1	LS	\$1,250.00	\$1,250.00	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00
				TOTAL	\$277,442.00	TOTAL	\$302,350.00	TOTAL	\$331,595.00

ened by	Gina Gilpin Witnessed by Luis Blandon								
				A&M Concrete		Finley Asphalt &	Sealing, Inc	Fort Myer Const	ruction
		43760 Trade Cent	er Pl, Ste 160	PO Box 1710		2237 33rd St, NE			
				Dulles, VA 20166		Manassas, VA 20108		Washington, DC 20018	
NO.	ITEM DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
1	MOBILIZATION/CONSTR. SCHEDULING	1	LS	\$28,500.00	\$28,500.00	\$55,160.00	\$55,160.00		\$114,150.0
2	CONSTRUCTION SURVEYING	1	LS	\$5,200.00	\$5,200.00	\$7,700.00	\$7,700.00	\$33,000.00	\$33,000.
3	CLEARING AND GRUBBING (INCLUDES ANY TREE								
4	REMOVAL NOT NOTED ON PLANS)	1 233	LS	\$17,500.00	\$17,500.00	\$12,000.00	\$12,000.00		\$25,000.
5	REGULAR EXCAVATION EXCESS CUT TO BE DISPOSED (HAUL AWAY)	233	CY CY	\$70.00 \$65.00	\$16,310.00 \$13,520.00	\$144.72 \$159.52	\$33,719.76 \$33,180.16	\$75.00 \$83.00	\$17,475. \$17,264.
6	FULL DEPTH PAVEMENT FOR ROADWAY	1775	SF	\$15.00	\$13,320.00	\$135.32	\$20,856.25	\$16.00	\$17,204.
	SM-9.5A OR SM-9.5D FOR MILL/OVERLAY (MIN.	1775	51	\$15.00	\$20,025.00	Ş11.75	\$20,030.23	\$10.00	Ş20,400.
7	2")	5435	SF	\$3.95	\$21,468.25	\$2.66	\$14,457.10	\$4.60	\$25,001.
8	ST'D. CURB CG-2	178	LF	\$90.00	\$16,020.00	\$38.09	\$6,780.02	\$40.00	\$7,120.
9	ST'D. RAD. CURB CG-2	12	LF	\$90.00	\$1,080.00	\$38.09	\$457.08	\$100.00	\$1,200.
10	MOD. COMB. CURB AND GUTTER CG-6	194	LF	\$75.00	\$14,550.00	\$38.09	\$7,389.46	\$46.00	\$8,924.
11									
11	MOD. RAD. COMB. CURB AND GUTTER CG-6	11	LF	\$95.00	\$1,045.00	\$38.09	\$418.99	\$100.00	\$1,100.
12	MOD. REVERSE RAD. COMB. CURB AND GUTTER								
	CG-6R	44	LF	\$95.00	\$4,180.00	\$38.09	\$1,675.96	\$100.00	\$4,400.
13	6' TRANSITION FROM MOD. RAD. COMB. CURB	42		405.00	** * ** * **	400.00	<b></b>	4100.00	** ***
	AND GUTTER CG-6 TO CG-6R	12	LF LF	\$95.00	\$1,140.00	\$38.09	\$457.08		\$1,200.
14 15	ASPHALT CONCRETE CURB MC-3A CG-12 DETECTABLE WARNING SURFACE	61 2	LF SY	\$60.00	\$3,660.00	\$25.00	\$1,525.00	\$60.00 \$270.00	\$3,660. \$540.
15	HYDR. CEMENT CONC. (CG-12)	14	SY	\$375.00 \$150.00	\$750.00 \$2,100.00	\$65.66 \$65.66	\$131.32 \$919.24	\$171.00	\$340.
10	HYDR. CEMENT CONC. SIDEWALK 4"	14	SY	\$150.00	\$2,100.00	\$65.66	\$7,616.56	\$64.00	\$2,394
18	ST'D. CG-9B (ENTRANCE APRON)	41	SY	\$160.00	\$6,560.00	\$142.62	\$5,847.42	\$94.00	\$7,424. \$3,854.
19	ASPHALT DRIVEWAY	117	SY	\$50.00	\$5,850.00	\$37.82	\$4,424.94	\$114.00	\$13,338.
20	FLEXIBLE PAVEMENT PLANING (2" MILL)	1208	SY	\$9.00	\$10,872.00	\$6.58	\$7,948.64	\$9.00	\$10,872.
24	SAWCUT CONCRETE ITEMS (SIDEWALK, C&G,								
21	ETC.)	12	LF	\$15.00	\$180.00	\$5.00	\$60.00	\$9.00	\$108.
22	SAWCUT FULL DEPTH PAVEMENT	470	LF	\$5.00	\$2,350.00	\$5.00	\$2,350.00	\$5.00	\$2,350.
23	RELOCATE MAILBOX	2	EA	\$350.00	\$700.00	\$350.00	\$700.00	\$335.00	\$670.
24	ST'D. MH-1 OR 2	6	LF	\$1,500.00	\$9,000.00	\$400.00	\$2,400.00	\$1,075.00	\$6,450.
25	FRAME & COVER FOR MH-1 OR 2	1	EA	\$650.00	\$650.00	\$1,500.00	\$1,500.00	\$540.00	\$540.
26	PIPE - 15" RCP	46	LF	\$320.00	\$14,720.00	\$124.38	\$5,721.48	\$199.00	\$9,154.
27 28	PIPE - 18" RCP DROP INLET DI-3B 20'	127	LF	\$290.00	\$36,830.00	\$102.61	\$13,031.47	\$214.00	\$27,178
28	DROP INLET DI-3B 20 DROP INLET DI-3C 14'	1	EA EA	\$14,500.00 \$12,500.00	\$14,500.00 \$12,500.00	\$8,830.92 \$7,632.70	\$8,830.92 \$7,632.70	\$17,100.00 \$15,550.00	\$17,100. \$15,550.
30	DROP INLET DI-12 4'	1	EA	\$7,800.00	\$7,800.00	\$6,471.36	\$6,471.36		\$13,330
31	REMOVE EX. 15" CMP	46	LF	\$68.00	\$3,128.00	\$20.00	\$920.00	\$66.00	\$3,036
32	REMOVE EX. 15" RCP	126	EA	\$60.00	\$7,560.00	\$20.00	\$2,520.00	\$66.00	\$8,316
33	REMOVE EX. STORM GRATE	3	EA	\$1,500.00	\$4,500.00	\$750.00	\$2,250.00		\$5,055
34	REMOVE EX. STORM MANHOLE	1	EA	\$1,500.00	\$1,500.00		\$1,500.00		\$1,685.
35									
	TIE PROPOSED PIPE TO EXISTING STRUCTURE	2	EA	\$2,100.00	\$4,200.00	\$1,500.00	\$3,000.00		\$5,000.
36	ALLAYING DUST	50	HR	\$35.00	\$1,750.00	\$25.00	\$1,250.00		\$750.
37	MAINTENANCE OF TRAFFIC	1	LS	\$21,500.00	\$21,500.00	\$60,000.00	\$60,000.00	\$61,100.00	\$61,100.
38	DEMOLITION (& HAUL AWAY) OF PAVEMENT								
	(FLEXIBLE)	379	SY	\$15.00	\$5,685.00	\$25.00	\$9,475.00	\$31.00	\$11,749.
39	DEMOLITION (& HAUL AWAY) OF CONC. APRON/SIDEWALK	0	CV.	CAE CO	¢260.00	ć22.00	COCA CA	624.00	64.00
40	DEMOLITION (& HAUL AWAY) EX. CURB &	8	SY	\$45.00	\$360.00	\$33.08	\$264.64	\$21.00	\$168.
	GUTTER	79	LF	\$15.00	\$1,185.00	\$12.00	\$948.00	\$12.00	\$948
41	SOD	466	SY	\$10.00	\$1,185.00	\$5.13	\$2,390.58		\$6,990
42	TOP SOIL CL. A 2"	466	SY	\$6.00	\$4,000.00	\$4.46	\$2,078.36		\$6,990
43	INLET PROTECTION (TY. A)	400	EA	\$450.00	\$1,800.00	\$350.00	\$1,400.00		\$1,480
44	INLET PROTECTION (TY. B)	4	EA	\$450.00	\$1,800.00	\$350.00	\$1,400.00		\$1,480
45	TREE PROTECTION	3	EA	\$285.00	\$855.00	\$250.00	\$750.00	\$750.00	\$2,250
46	SILT FENCE	166	LF	\$10.00	\$1,660.00	\$7.00	\$1,162.00	\$6.00	\$996
47	ROCK CHECK DAMS	2	EA	\$750.00	\$1,500.00	\$250.00	\$500.00	\$500.00	\$1,000
48	PROPOSED TREE	9	EA	\$395.00	\$3,555.00	\$330.00	\$2,970.00	\$1,250.00	\$11,250
49	MISC. LANDSCAPING (DISCRETION OF TOWN)	1	LS	\$2,900.00	\$2,900.00	\$3,300.00	\$3,300.00	\$25,000.00	\$25,000

51									
-	CONC. FOUNDATION STP-1 (FOR SIGN POST)	3	EA	\$650.00	\$1,950.00	\$509.66	\$1,528.98	\$380.00	\$1,140.00
52	RELOCATE/RESET EXIST. SIGN STRUCTURE	3	EA	\$175.00	\$525.00	\$509.66	\$1,528.98	\$590.00	\$1,770.00
53	4" PAVEMENT MARKING TY. B CLASS I - YELLOW	501	LF	\$3.00	\$1,503.00	\$0.99	\$495.99	\$4.00	\$2,004.00
54	24" PAVEMENT MARKING TY. B CLASS I - WHITE	145	LF	\$15.00	\$2,175.00	\$14.08	\$2,041.60	\$18.00	\$2,610.00
55	NS RELOCATE EX. WATER METER	2	EA	\$1,750.00	\$3,500.00	\$15,000.00	\$30,000.00	\$1,000.00	\$2,000.00
56	NS RESET EX. GUY WIRE	1	EA	\$1,900.00	\$1,900.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00
57	TEST HOLE	2	EA	\$590.00	\$1,180.00	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00
58	CONTINGENT - NS ADJUST SANITARY SEWER								
38	CONNECTIONS	1	LS	\$3,900.00	\$3,900.00	\$15,000.00	\$15,000.00	\$25,000.00	\$25,000.00
				TOTAL	\$395,307.25	TOTAL	\$432,055.04	TOTAL	\$619,428.00